# ON THE DYNAMICS OF A RECURSIVE SEQUENCE

## <sup>1</sup>SANIYE ERGIN AND <sup>2</sup>RAMAZAN KARATAS

<sup>1,2</sup>Akdeniz University, Education Faculty, 07058 Konyaaltı, Antalya, TURKIYE

> <sup>1</sup> saniye.86@hotmail.com.tr <sup>2</sup>rkaratas@akdeniz.edu.tr

#### ABSTRACT

We describe the global behavior of the nonnegative equilibrium points of the difference equation

$$x_{n+1} = \frac{ax_{n-p}}{b+c\prod\limits_{i=0}^{k}x_{n-(2i+1)}}, \quad n = 0, 1, ...,$$

where  $k, p \in \mathbb{N}$ , parameters a, b, c and initial conditions are nonnegative real numbers.

Keywords: Difference Equation, Globally Asymptotically, Periodicity.

#### 1. Introduction

The study of the nonlinear rational difference equations is quite challenging and interesting. So, many researchers have studied the behavior of the solution of rational difference equations. For example see Refs. [1-19].

Schinas et al. [5] studied the boundedness, the persistence, the attractivity and stability of the positive solutions of the difference equation

$$x_{n+1} = \alpha + \frac{x_{n-1}^p}{x_n^q}.$$

Hamza et al. [2] studied the asymptotic stability of the nonnegative equilibrium point of the difference equation

$$x_{n+1} = \frac{Ax_{n-1}}{B + C \prod_{i=1}^k x_{n-2i}}.$$

We [14] studied the global behavior of the nonnegative equilibrium points of the difference equation

$$x_{n+1} = \frac{Ax_{n-m}}{B + C \prod_{i=0}^{2k+1} x_{n-i}}.$$

Elsayed [9] investigated the qualitative behavior of the solution of the difference equation

$$x_{n+1} = ax_n + \frac{bx_n^2}{cx_n + dx_{n-1}}.$$

Elabbasy et al. [7] investigated some qualitative behavior of the solutions of the recursive sequence

$$x_{n+1} = \frac{\alpha x_{n-k}}{\beta + \gamma \prod_{i=0}^{k} x_{n-i}}.$$

Our aim in this paper is to investigate the dynamics of the solution of the difference equation

(1.1) 
$$x_{n+1} = \frac{ax_{n-p}}{b+c\prod_{i=0}^{k} x_{n-(2i+1)}}, \quad n=0,1,...$$

where  $k, p \in \mathbb{N}$ , parameters a, b, c and initial conditions are nonnegative real numbers. Also we obtained some results of some special cases of Eq.(1.1).

### 2. Preliminaries

Let I be some interval of real numbers and let  $f:I^{k+1}\to I$  be a continuously differentiable function. Then for every set of initial conditions  $x_{-k}, x_{-(k+1)}, ..., x_0 \in I$ , the difference equation

(2.1) 
$$x_{n+1} = f(x_n, x_{n-1}, ..., x_{n-k}), n = 0, 1, ...$$

has a unique solution  $\{x_n\}_{n=-k}^{\infty}$ .

**Definition 1.** An equilibrium point for Eq.(2.1) is a point  $\overline{x} \in I$  such that  $\overline{x} = f(\overline{x}, \overline{x}, ..., \overline{x})$ .

**Definition 2.** A sequence  $\{x_n\}_{n=-k}^{\infty}$  is said to be periodic with period p if  $x_{n+p} = x_n$  for all  $n \ge -k$ .

**Definition 3.** (i) The equilibrium point  $\overline{x}$  of Eq.(2.1) is locally stable if for every  $\varepsilon > 0$ , there exists  $\delta > 0$  such that for all  $x_{-k}, x_{-(k-1)}, ..., x_0 \in I$  with  $|x_{-k} - \overline{x}| + |x_{-(k-1)} - \overline{x}| + ... + |x_0 - \overline{x}| < \delta$ , we have  $|x_n - \overline{x}| < \varepsilon$  for all  $n \ge -k$ .

(ii) The equilibrium point  $\overline{x}$  of Eq.(2.1) is locally asymptotically stable if  $\overline{x}$  is locally stable solution of Eq.(2.1) and there exists  $\gamma > 0$ , such that for

 $all \, x_{-k}, x_{-(k-1)}, ..., x_0 \in I \text{ with } |x_{-k} - \overline{x}| + |x_{-(k-1)} - \overline{x}| + ... + |x_0 - \overline{x}| < \gamma,$ we have  $\lim_{n\to\infty} x_n = \overline{x}$ .

(iii) The equilibrium point  $\overline{x}$  of Eq.(2.1) is global attractor if for all

- $x_{-k}, x_{-(k-1)}, ..., x_0 \in I$ , we have  $\lim_{n \to \infty} x_n = \overline{x}$ .
- (iv) The equilibrium point  $\overline{x}$  of Eq.(2.1) is globally asymptotically stable if  $\overline{x}$  is locally stable, and  $\overline{x}$  is also a global attractor of Eq.(2.1).
- (v) The equilibrium point  $\overline{x}$  of Eq.(2.1) is unstable if  $\overline{x}$  is not locally stable.

The linearized equation associated with Eq.(2.1) is

$$(2.2) y_{n+1} = \sum_{i=0}^{k} \frac{\partial f}{\partial x_{n-i}} (\overline{x}, \overline{x}, ..., \overline{x}) y_{n-i}, \quad n = 0, 1, ...$$

The characteristic equation associated with Eq.(2.2) is

(2.3) 
$$\lambda^{k+1} - \sum_{i=0}^{k} \frac{\partial f}{\partial x_{n-i}} (\overline{x}, \overline{x}, ..., \overline{x}) \lambda^{k-i} = 0.$$

**Theorem 1.** [19] Assume that f is a  $C^1$  function and let  $\overline{x}$  be an equilibrium point of Eq.(2.1). Then the following statements are true.

- (i) If all roots of Eq.(2.3) lie in open disk  $|\lambda| < 1$ , then  $\overline{x}$  is locally asymptotically stable.
- (ii) If at least one root of Eq.(2.3) has absolute value greater than one, then  $\overline{x}$  is unstable.

# 3. DYNAMICS OF EQ.(1.1)

In this section, we investigate the dynamics of Eq.(1.1) under the assumptions that all parameters are nonnegative real numbers, the initial conditions are nonnegative real numbers and p, k are nonnegative integers.

The change of variables  $x_n = \left(\frac{b}{c}\right)^{\frac{1}{k+1}} y_n$  reduces Eq.(1.1) to the difference equation

(3.1) 
$$y_{n+1} = \frac{\gamma y_{n-p}}{1 + \prod_{i=0}^{k} y_{n-(2i+1)}}, \quad n = 0, 1, \dots$$

where  $\gamma = \frac{a}{b} > 0$ . We can see that  $\overline{y}_1 = 0$  is always an equilibrium point of Eq.(3.1). When  $\gamma > 1$ , Eq.(3.1) also possesses the unique positive equilibrium  $\overline{y}_2 = (\gamma - 1)^{\frac{1}{k+1}}$ .

**Theorem 2.** The following statements are true:

(i) If  $\gamma < 1$ , then the equilibrium point  $\overline{y}_1 = 0$  of Eq.(3.1) is locally asymptotically stable,

1

(ii) If  $\gamma > 1$ , then the equilibrium points  $\overline{y}_1 = 0$  and  $\overline{y}_2 = (\gamma - 1)^{\frac{1}{k+1}}$  are unstable.

*Proof.* The linearized equation associated with Eq.(3.1) about  $\overline{y}$  is

$$z_{n+1} + \frac{\gamma \overline{y}^{k+1}}{\left(1 + \overline{y}^{k+1}\right)^2} \left( \sum_{i=0}^k z_{n-(2i+1)} - z_{n-p} \right) - \frac{\gamma}{\left(1 + \overline{y}^{k+1}\right)^2} z_{n-p} = 0.$$

The characteristic equation associated with this equation is

$$\lambda^{2k+2} + \gamma \frac{\overline{y}^{k+1}}{\left(1 + \overline{y}^{k+1}\right)^2} \left( \sum_{i=0}^k \lambda^{2i} - \lambda^{2k+1-p} \right) - \gamma \frac{1}{\left(1 + \overline{y}^{k+1}\right)^2} \lambda^{2k+1-p} = 0.$$

Then the linearized equation of Eq.(3.1) about the equilibrium point  $\overline{y}_1 = 0$  is

$$z_{n+1} - \gamma z_{n-p} = 0, \quad n = 0, 1, \dots$$

The characteristic equation of Eq.(3.1) about the equilibrium point  $\overline{y}_1 = 0$  is

$$\lambda^{2k+2} - \gamma \lambda^{2k+1-p} = 0.$$

So

 $\lambda = 0$  and  $\lambda = P+\sqrt[3]{\gamma}$ . In view of Theorem 1:

If  $\gamma < 1$ , then  $|\lambda| < 1$  for all roots and the equilibrium point  $\overline{y}_1 = 0$  is locally asymptotically stable.

If  $\gamma > 1$ , it follows that the equilibrium point  $\overline{y}_1 = 0$  is unstable.

The linearized equation of E q.(3.1) about the equilibrium point  $\overline{y}_2 = (\gamma - 1)^{\frac{1}{k+1}}$  becomes

$$z_{n+1} + \left(1 - \frac{1}{\gamma}\right) \left(\sum_{i=0}^{k} z_{n-(2i+1)} - z_{n-p}\right) - \frac{1}{\gamma} z_{n-p} = 0, \quad n = 0, 1, \dots$$

The characteristic equation of E q.(3.1) about the equilibrium point  $\overline{y}_2 = (\gamma - 1)^{\frac{1}{k+1}}$  is

$$\lambda^{2k+2} + \left(1 - \frac{1}{\gamma}\right) \left(\sum_{i=0}^k \lambda^{2i} - \lambda^{2k+1-p}\right) - \frac{1}{\gamma} \lambda^{2k+1-p} = 0.$$

It is clear that this equation has a root in the interval  $(-\infty, -1)$ . Then the equilibrium point  $\overline{y}_2 = (\gamma - 1)^{\frac{1}{k+1}}$  is unstable.

**Theorem 3.** Assume that  $\gamma < 1$ , then the equilibrium point  $\overline{y}_1 = 0$  of Eq.(3.1) is globally asymptotically stable.

*Proof.* Let  $\{y_n\}_{n=-(2k+1)}^{\infty}$  be a solution of Eq.(3.1). From Theorem 2 we know that the equilibrium point  $\overline{y}_1 = 0$  of Eq.(3.1) is locally asymptotically stable. So it is sufficed to show that

$$\lim_{n\to\infty}y_n=0.$$

Since

$$y_{n+1} = \frac{\gamma y_{n-p}}{1 + \prod_{i=0}^{k} y_{n-(2i+1)}} \le \gamma y_{n-p}$$

We obtain

$$y_{n+1} \leq \gamma y_{n-p}.$$

Then it can be written for s = 0, 1, ...

$$y_{s(p+1)+1} \le \gamma^{s+1} y_{-p},$$
  
 $y_{s(p+1)+2} \le \gamma^{s+1} y_{-(p-1)},$ 

$$y_{s(p+1)+p+1} \leq \gamma^{s+1} y_0$$

If  $\gamma < 1$ , then  $\lim_{l \to \infty} \gamma^{s+1} = 0$ 

and

$$\lim_{n\to\infty}y_n=0.$$

The proof is complete.

Corollary 1. Assume that  $\gamma = 1$ . Then every solution of Eq.(3.1) is bounded.

*Proof.* Let  $\{y_n\}_{n=-(2k+1)}^{\infty}$  be a solution of Eq.(3.1). It follows from Eq.(3.1) that

$$y_{n+1} = \frac{y_{n-p}}{1 + \prod_{i=0}^{k} y_{n-(2i+1)}} \le y_{n-p}.$$

Then in view of the proof of Theorem 3, we have for s = 0, 1, ...

$$y_{s(p+1)+1} \le y_{-p},$$
  
 $y_{s(p+1)+2} \le y_{-(p-1)},$ 

$$y_{s(p+1)+p+1} \leq y_0.$$

So every solution of Eq.(3.1) is bounded from above by  $A = \max\{y_{-p}, y_{-(p-1)}, ..., y_0, \}$ .

Corollary 2. Assume that any two consecutive initial conditions  $y_{-i}$  (i = 0, 1, ..., p) of Eq.(3.1) are zero, then the following statements are true:

- (i) If  $\gamma > 1$ , then every solution of Eq.(3.1) is unbounded except zero.
- (ii) If  $\gamma = 1$ , then Eq.(3.1) has periodic solutions of period (p+1).

*Proof.* (i) Let  $\{y_n\}_{n=-(2k+1)}^{\infty}$  be a solution of Eq.(3.1). It follows from Eq.(3.1) and our assumption that

$$y_{n+1} = \gamma y_{n-p}.$$

Then we get for s = 0, 1, ...

$$y_{s(p+1)+1} = \gamma^{s+1} y_{-p},$$

$$y_{s(p+1)+2} = \gamma^{s+1} y_{-(p-1)},$$
...
$$y_{s(p+1)+p+1} = \gamma^{s+1} y_{0}.$$

If  $\gamma > 1$ , then  $\lim_{s \to \infty} \gamma^{s+1} = \infty$  and every solution of Eq.(3.1) is unbounded except zero.

(ii) If  $\gamma=1$ , from (i) it is obvious that Eq.(3.1) has periodic solutions of period (p+1).

### 4. Numerical Results

In this section, we give a few numerical results for some special values of the parameters.

Example 1. Let 
$$y_{n+1} = \frac{\gamma y_{n-p}}{1 + \prod\limits_{i=0}^{k} y_{n-(2i+1)}}, \ n = 0, 1, ..., 49 \ and \ p = 3, k = 2, \gamma = 0.3, y_{-5} = 6, y_{-4} = 5, y_{-3} = 2, y_{-2} = 1, y_{-1} = 4, y_{0} = 3.$$
 Then we have the following results for Theorem 3:

n $y_n$ 0,0122448979  $7,6158838.10^{-7}$ 1  $6,8542954.10^{-8}$ 14 0,0004825164 41  $3,1657873.10^{-8}$ 23 46 0,0026557092 50  $9,4973620.10^{-9}$ 28 0,0006211050

Example 2. Let 
$$y_{n+1} = \frac{\gamma y_{n-p}}{1 + \prod\limits_{i=0}^{k} y_{n-(2i+1)}}, n = 0, 1, ..., 49 \text{ and } p = 3, k = 1$$

 $2, \gamma = 5, y_{-5} = 7, y_{-4} = 6, y_{-3} = 1, y_{-2} = 3, y_{-1} = 2, y_{0} = 4$ . Then we have the following results which show  $\overline{y}_{1} = 0$  is unstable.

$\overline{n}$	$y_n$	n	$y_n$	
1	0, 333333333	27	43732,0390	
14	0,002004385	34	$2,40140.10^{-10}$	
19	1749, 286550	43	$2,73325.10^7$	
21	0,0000081014	50	$6,14759.10^{-16}$	

Example 3. Let 
$$y_{n+1} = \frac{\gamma y_{n-p}}{1+\prod\limits_{i=0}^{k} y_{n-(2i+1)}}, \ n=0,1,...,49 \ and \ p=3, \ \gamma=1, k=3, y_{-7}=1, y_{-6}=2, y_{-5}=0.1, y_{-4}=0.2, y_{-3}=4, y_{-2}=5, y_{-1}=1, y_{-6}=1, y_$$

 $0.3, y_0 = 6$ . Then we have the following results from Corollory 1:

$\overline{n}$	$y_n$	n	$y_n$	
1	$3,5714\overline{28}$	25	1,328736	
11	0, 135316	34	0,017096	
17	1,413484	44	1,677136	
20	1,685496	50	0,017040	

Example 4. Let 
$$y_{n+1} = \frac{\gamma y_{n-p}}{1 + \prod_{i=0}^{k} y_{n-(2i+1)}}$$
,  $n = 0, 1, ..., 49$  and  $p = 3, \gamma = 0$ 

 $2, k = 2, y_{-5} = 5, y_{-4} = 3, y_{-3} = 2, y_{-2} = 3, y_{-1} = 0, y_0 = 0.$  Then we have the following results from Corollary 2-(i):

$\overline{n}$	$y_n$	n	$y_n$
3	0	24	0
6	12	34	1536
13	32	39	0
21	128	50	24576

Example 5. Let 
$$y_{n+1} = \frac{\gamma y_{n-p}}{1 + \prod_{i=0}^{n} y_{n-(2i+1)}}$$
,  $n = 0, 1, ..., 49$  and  $p = 3, \gamma = 1$ 

 $1, k = 2, y_{-5} = 3, y_{-4} = 4, y_{-3} = 0, y_{-2} = 0, y_{-1} = 2, y_0 = 1.$  Then we have the following results from Corollary 2 - (ii):

$\overline{n}$	$y_n$	n	$y_n$	
1	0	5	0	
2	0	6	0	
3	2	7	2	
4	1	8	1	

#### REFERENCES

- [1] A. Andruch-Sobilo, M. Migda, Further properties of the rational recursive sequence  $x_{n+1} = \frac{ax_{n-1}}{b+cx_nx_{n-1}}$ , Opuscula Mathematica, 26(3) (2006), 387-394.
- [2] A. E. Hamza, R. K. Allah, Global behavior of a higher order difference equation, Journal of Mathematics and Statistics, 3(1) (2007), 17-20.
- [3] C. Cinar, On the positive solutions of the difference equation  $x_{n+1} = \frac{ax_{n-1}}{1+bx_nx_{n-1}}$ , Applied Mathematics and Computation, 156 (2004), 587-590.
- [4] C. Cinar, On the positive solutions of the difference equation  $x_{n+1} = \frac{x_{n-1}}{-1 + x_n x_{n-1}}$ , Applied Mathematics and Computation, 158 (2004), 813-816.
- [5] C. J. Schinas, G. Papaschinopoulos, G. Stefanidou, On the recursive sequence  $x_{n+1} = A + \frac{x_{n-1}^p}{x_n^q}$ , Advances in Difference Equations, Vol.2009, Article ID 327649, 11 pages, doi:10.1155/2009/327649.

- [6] D. Chen, X. Li, Y. Wang, Dynamics for nonlinear difference equation  $x_{n+1} = \frac{\alpha x_{n-k}}{\beta + \gamma x_{n-l}^P}$ , Advances in Difference Equations, Vol.2009, Article ID 235691, 13 pages, doi:10.1155/2009/235691.
- [7] E. M. Elabbasy, H. El-Metwally, E. M. Elsayed, On the difference equation  $x_{n+1} = \frac{\alpha x_{n-k}}{\beta + \gamma \prod_{i=0}^{k} x_{n-i}}$ , J. Conc. Appl. Math., 5(2) (2007), 101-113.
- [8] E. M. Elabbasy, H. El-Metwally, E. M. Elsayed, Some properties and expressions of solutions for a class of nonlinear difference equation, Utilitas Mathematica, 87(2012), 93-110.
- [9] E. M. Elsayed, Qualitative behavior of difference equation of order two, Mathematical and Computer Modelling, 50(2009),1130-1141.
- [10] E. M. Elsayed, Solutions of rational difference system of order two, Mathematical and Computer Modelling, 55(2012), 378-384.
- [11] E. M. Elsayed, Solution and attractivity for a rational recursive sequence, Discrete Dynamics in Nature and Society, Vol. 2011, Article ID 982309,17 pages.
- [12] M. Aloqeili, Dynamics of a rational difference equation, Applied Mathematics and Computation, 176(2) (2006), 768-774.
- [13] N. Touafek, E. M. Elsayed, On the solutions of systems of rational difference equations, Mathematical and Computer Modelling, 55(2012),1987-1997.
- [14] R. Karatas, Global behavior of a higher order difference equation, Computers and Mathematics with Applications, 60 (3) (2010), 830-839.
- [15] R. Karatas, Global behavior of a higher order difference equation, Ars Combinatoria, Vol. 96 (2010),145-160.
- [16] R. Karatas, Global behavior of a rational recursive sequence, Ars Combinatoria, Vol. 97A (2010), 421-428.
- [17] R. Karatas, A. Gelisken, Qualitative behavior of rational difference equation, Ars Combinatoria, Vol. 100 (2011), 321-326.
- [18] T. I. Saary, Modern Nonlinear Equations, McGraw Hill, Newyork, 1967.
- [19] V. L. Kocic, G. Ladas, Global Behavior of Nonlinear Difference Equations of High Order with Applications, Kluwer Academic Publishers, Dordrecht, 1993.